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BIHAR BOARD QUESTION PAPER  

हिन्दी माध्यम / ENGLISH MEDIUM  

INTERMEDIATE EXAMINATION - 2022 
इंटरमीडिएट परीक्षा - 2022 

(ANNUAL / वार्षिक)  

BUSINESS ECONOMICS  
 

सभम : 3 घॊटे 15 मभनट ]          [ऩणूणांक : 100 
 

ऩयीऺणर्थिमों के मरए ननदेश : 
1. ऩयीऺणथी OMR उत्तय ऩत्रक ऩय अऩनण प्रश्न ऩसु्ततकण क्रभणॊक (10 अॊकों कण) अवश्म 
मरखें। 
2. ऩयीऺणथी मथणसॊबव अऩने शब्दों भें ही उत्तय दें। 
3. दणहहनी ओय हणमशमे ऩय हदमे हुए अॊक ऩणूणांक ननहदिष्ट कयते हैं। 
4. प्रश्नों को ध्मणनऩवूिक ऩढ़ने के मरए ऩयीऺणर्थिमों को 15 मभनट कण अनतरयक्त सभम 
हदमण गमण है। 
5. मह प्रश्न ऩसु्ततकण दो खण्डों भें है- खण्ड 'अ' एवॊ खण्ड 'फ'। 
6. खण्ड 'अ' भें 100 वततुननष्ठ प्रश्न हैं, स्िनभें से ककनहीॊ 50 प्रश्नों कण उत्तय देनण 
अननवणमि है। प्रत्मेक प्रश्न के मरए 1 अॊक ननधणिरयत है। ऩचणस से अर्धक प्रश्नों के उत्तय 
देने ऩय प्रथभ 50 कण ही भलूमणॊकन कम्प्मटूय द्वणयण ककमण िणएगण। सही उत्तय को 
उऩरब्ध कयणमे गए OMR उत्तय- ऩत्रक भें हदमे गमे सही ववकलऩ को नीरे / कणरे फॉर 
ऩेन से प्रगणढ़ कयें। ककसी बी प्रकणय के ह्वणइटनय / तयर ऩदणथि / ब्रेड / नणखून आहद 
कण उत्तय ऩत्रक भें प्रमोग कयनण भनण है, अनमथण ऩयीऺण ऩरयणणभ अभणनम होगण। 
7. खण्ड-फ भें 30 रघ ुउत्तयीम प्रश्न हैं, स्िनभें से ककनहीॊ 15 प्रश्नों कण उत्तय देनण 
अननवणमि है। प्रत्मेक प्रश्न के मरए 2 अॊक ननधणिरयत है। इनके अनतरयक्त, इस खण्ड भें 8 
दीघि उत्तयीम प्रश्न है। हदमे गमे हैं, स्िनभें से ककनहीॊ 4 प्रश्नों कण उत्तय देनण है। प्रत्मेक 
प्रश्न के मरए 5 अॊक ननधणिरयत है। 
8. ककसी प्रकणय के इरेक्रॉननक उऩकयण कण प्रमोग ऩणूितमण वस्िित है। 
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SECTION-A 

प्रश्न सॊख्मण 1 से 100 तक के प्रश्न के सणथ चणय ववकलऩ हदमे गए हैं, से एक सही है। 
ककनहीॊ 50 प्रश्नों के उत्तय अऩने द्वणयण चनेु गए सही ववकर OMR उत्तय-ऩत्रक ऩय 
र्चस्ह्नत कयें। 

 

1. सणख भदु्रण कण ववततणय होतण है िफ नगद कोष अनऩुणत 

(a) घटतण है 

(b) फढ़तण है 

(c) (a) औय (b) दोनों सम्पबव 

(d) इनभें से कोई नहीॊ 

 

2. व्मणवसणनमक फैंक कण प्रभखु कणमि 

(a) सणख ननमॊत्रण कयनण 

(b) अनम फैंकों को ऋण देनण 

(c) ग्रणहकों कण िभण तवीकणय कयनण 

(d) इनभें से सबी 

 

3. व्मणवसणनमक फैंकों द्वणयण तवीकणय की िणनेवणरी प्रभखु िभणएॉ ननम्पन भें कौन-सी है 

(a) चणर ूिभण 

(b) फचत िभण 

(c) सणवर्ध िभण 

(d) इनभें से सबी  
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4. केनद्रीम फैंक के ननम्पनमरखखत भें कौन-से कणमि हैं ? 

(a) नोट ननगिभन कण एकणर्धकणय 

(b) सयकणय कण फैंकय 

(c) ववदेशी ववननभम कोषों कण सॊयऺक 

(d) इनभें से सबी 

 

5. बणयत कण केनद्रीम फैंक ननम्पनमरखखत भें कौन-सण है ? 

(a) रयिवि फैंक ऑप इस्ण्डमण  

(b) तटेट फैंक ऑप इस्ण्डमण 

(c) सेनरर फैंक ऑप इस्ण्डमण 

(d) फैंक ऑप इस्ण्डमण 

 

6. सणख ननमॊत्रण के प्रभखु उद्देश्म ननम्पनमरखखत भें कौन-से हैं ? 

(a) कीभत स्तथयतण तथणवऩत कयनण 

(b) ववदेशी ववननभम दय भें स्तथयतण रणनण  

(c) उत्ऩणदन एवॊ योिगणय वदृ्र्ध के उऩणम कयनण 

(d) इनभें से सबी 

 

7. बणयत भें 14 फड ेअनसुरू्चत व्मणवसणनमक फैंकों कण यणष्रीमकयण कफ ककमण गमण ? 

(a) 1949 भें 

(b) 1955 भें 

(c) 1969 भें 

(d) 2000 भें 
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8. कीनस के अनसुणय ववननमोग से अमबप्रणम है। 

(a) ववत्तीम ववननमोग से  

(b) वणततववक ववननमोग से 

(c) (a) औय (b) दोनों 

(d) इनभें से कोई नहीॊ 

 

9. सणभहूहक भणॉग कण प्रभखु घटक है। 

(a) व्मस्क्तगत उऩबोग 

(b) सणवििननक उऩबोग 

(c) ववननमोग 

(d) इनभें से सबी 

 

10. ननवेश के ननधणियक घटक कौन से हैं 

(a) ऩूॉिी की सीभणनत ऺभतण 

(b) ब्मणि की दय 

(c) (a) औय (b) दोनों 

(d) इनभें से कोई नहीॊ 

 

11. उत्ऩणदन सम्पबणवनण वक्र कण ढणर र्गयतण है। 

(a) फणमें से दणमें 

(b) दणमें से फणमें 

(c) ऊऩय से नीच े

(d) नीच ेसे ऊऩय  
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12. ककस अथिव्मवतथण भें कीभत तॊत्र के आधणय ऩय ननणिम मरए िणते हैं ? 

(a) सभणिवणदी 

(b) ऩूॉिीवणदी 

(c) मभर्ित 

(d) इनभें से कोई नहीॊ 

 

13. उऩबोक्तण व्मवहणय कण अध्ममन ककमण िणतण है। 

(a) सकू्ष्भ अथिशणतत्र भें 

(b) आम मसद्धणॊत भें 

(c) सभस्ष्ट अथिशणतत्र भें 

(d) इनभें से कोई नहीॊ  

 

14. सीमभत सणधन एवॊ असीमभत आवश्मकतण कण ववचणय ककसने हदमण ? 

(a) एडभ स्तभथ 

(b) भणशिर 

(c) यॉबफनस 

(d) सेम्पमरुसन 

 

15. व्मस्ष्ट अथिशणतत्र की शणखण कौन-सी है ? 

(a) वततु कीभत ननधणियण 

(b) सणधन कीभत ननधणियण 

(c) आर्थिक कलमणण 

(d) इनभें से सबी 
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16. सभ-सीभणॊत उऩमोर्गतण ननमभ के ववचणय के भरू प्रनतऩणदक कौन थे ? 

(a) भणशिर 

(b) गोसेन 

(c) रयकणडों 

(d) मभर 

 

17. सीभणनत उऩमोर्गतण हणस ननमभ के प्रनतऩणदक हैं 

(a) गोसेन 

(b) एडभ स्तभथ 

(c) चऩैभनै 

(d) हहक्स 

 

18. ककसी वतत ुभें भणनवीम आवश्मकतण की ऩनूति की ऺभतण को कहते हैं 

(a) उत्ऩणदकतण 

(b) सनतुस्ष्ट 

(c) उऩमोर्गतण 

(d) रणबदणमकतण 

 

19. वततु की हय अगरी इकणई के प्रमोग से सीभणनत उऩमोर्गतण 

(a) घटती है 

(b) फढ़ती है 

(c) सभणन यहती है 

(d) शनूम हो िणती है। 
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20. भलूम वदृ्र्ध से 'र्गकपन' वततुओॊ की भणॉग 

(a) फढ़ िणती है 

(b) घट िणती है 

(c) स्तथय यहती है 

(d) अस्तथय हो िणती है 

 

21. सयकणय के कय यणितव के अनतगित शणमभर है  

(a) आमकय 

(b) ननगभ कय 

(c) सीभण शलुक 

(d) इनभें से सबी 

 

22 अद्िधननमभित वततुएॉ क्मण कहरणती हैं ? 

(a) ऩूॉिीगत वततुएॉ 

(b) भध्मवती वततुएॉ 

(c) अस्नतभ उत्ऩणद 

(d) इनभें से कोई नहीॊ 

 

23. बगुतणन सनतुरन भें असनतुरन कण ननम्पन भें से कौन आर्थिक कणयण है ? 

(a) अनत: यणष्रीम सम्पफनध  

(b) यणिनीनतक अस्तथयतण 

(c) व्मणऩणय चक्र 

(d) इनभें से कोई नहीॊ 
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24. सभ-सीभणनत उऩमोर्गतण ननमभ को कहण िणतण है 

(a) उऩमोर्गतण वदृ्र्ध ननमभ 

(b) उऩमोर्गतण हणस ननमभ 

(c) प्रनततथणन कण ननमभ 

(d) इनभें से कोई नहीॊ 

 

25. 'भणइक्रोि' शब्द ननम्पन भें से कौन-सी बणषण कण है ? 

(a) अयफी  

(b) ग्रीक 

(c) िभिन 

(d) अॊगे्रिी 

 

26. सफसे ऩहरे 'भणइक्रो' शब्द कण प्रमोग कयने वणरे हैं। 

(a) भणशिर 

(b) फोस्लडॊग 

(c) कीनस 

(d) यैगनय किश 

 

27. ननम्पन भें से ककस अथिव्मवतथण भें ननिी ऺेत्र एवॊ सणवििननक ऺेत्र कण सह-अस्ततत्व 
होतण है ? 

(a) ऩूॉिीवणदी 

(b) सभणिवणदी 

(c) मभर्ित 

(d) इनभें से कोई नहीॊ 
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28. उऩमोर्गतण कण क्रभवणचक मसद्धणनत ककसने हदमण ? 

(a) भणशिर 

(b) हहक्स एवॊ ऐरन 

(c) रयकणडों 

(d) ऩीग ू

 

29. तटतथतण वक्र कण झकुणव हदखणतण है।  

(a) कीभत अनऩुणत 

(b) घटतण हुआ 

(c) घटक प्रनततथणऩन 

(d) सीभणनत उऩमोर्गतण 

 

30. भणॉग वक्र कण ढणर सणभणनमत् होतण है। 

(a) फणमें से दणमें ऊऩय की ओय 

(b) फणमें से दणमें नीच ेकी ओय  

(c) X- अऺ के सभणनणनतय 

(d) Y-अऺ के सभणनणनतय 

 

31. ननम्पनमरखखत भें से ककसके ऩरयवतिन से भणॉग भें ऩरयवतिन नहीॊ होतण ? 

(a) भलूम भें ऩरयवतिन 

(b) आम भें ऩरयवतिन 

(c) रुर्च तथण पैशन भें ऩरयवतिन  

(d) इनभें से कोई नहीॊ 
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32. भणॉग की कीभत रोच से अमबप्रणम है 

(a) कीभत भें ऩरयवतिन के कणयण भणॉग भें ऩरयवतिन 

(b) भणॉग भें ऩरयवतिन 

(c) वणततववक आम भें ऩरयवतिन 

(d) कीभत भें ऩरयवतिन 

 

33. भणॉग की रोच की भणऩ ननम्पनमरखखत भें ककस ववर्ध से की िणती है ? 

(a) कुर व्मम ववर्ध 

(b) प्रनतशत मण आनऩुणनतक ववर्ध 

(c) बफनद ुववर्ध 

(d) इनभें से सबी 

 

34. उत्ऩणदन परन को व्मक्त कयतण है 

(a) Qx = Px   

(b) Qx = Dx 

(c) Qx = f (A, B, C, D) 

(d) इनभें से कोई नहीॊ 

 

35. ननम्पनमरखखत भें से कौन उत्ऩवत्त कण सणधन नहीॊ है ? 

(a) बमूभ 

(b) िभ 

(c) भदु्रण 

(d) ऩूॉिी 
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36. उत्ऩवत्त ह्रणस ननमभ रणगू होने कण भखु्म कणयण कौन-सण है ? 

(a) सणधनों की सीमभततण  

(b) सणधनों कण अऩणूि तथणनणऩनन होनण  

(c) (a) औय (b) दोनों 

(d) इनभें से कोई नहीॊ 

 

37. ऩरयवतिनशीर अनऩुणत कण ननमभ सम्पफस्नधत है 

(a) अलऩकणर एवॊ दीघिकणर दोनों से 

(b) दीघिकणर से 

(c) अलऩकणर से 

(d) अनत दीघिकणर से 

 

38. अवसय रणगत कण वकैस्लऩक नणभ है 

(a) आर्थिक रणगत 

(b) सनतुरन भलूम 

(c) सीभणनत रणगत 

(d) औसत रणगत 

 

39. अलऩकणर भें उत्ऩणदन प्रकक्रमण भें ननम्पनमरखखत भें कौन-से सणधन होते हैं ? 

(a) स्तथय सणधन  

(b) ऩरयवतिनशीर सणधन 

(c) (a) औय (b) दोनों 

(d) इनभें से कोई नहीॊ 
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40. उत्ऩणदन भें वदृ्र्ध के सणथ-सणथ कुर रणगत औय कुर स्तथय रणगत कण अनतय 

(a) स्तथय यहतण है 

(b) फढ़तण है 

(c) घटतण िणतण है 

(d) फढ़तण-घटतण यहतण है 

 

41. गुणणत्भक सणख ननमॊत्रण के अनतगित ननम्पनमरखखत भें ककसे शणमभर ककमण िणतण है। 

(a) ऋणों की सीभणनत आवश्मकतण भें ऩरयवतिन 

(b) सणख की यणशननॊग 

(c) प्रत्मऺ कणमिवणही 

(d) इनभें से सबी 

 

42. ननम्पनमरखखत भें से कौन-सण व्मम एक ऩरु के ननभणिण भें होतण है ? 

(a) ऩूॉिीगत व्मम 

(b) यणितव व्मम 

(c) (a) औय (b) दोनों 

(d) इनभें से कोई नहीॊ  

 

43. फिट प्रणस््तमों के सॊघटक ननम्पनमरखखत भें कौन हैं ? 

(a) यणितव प्रणस््तमणॉ 

(b) ऩूॉिीगत प्रणस््तमणॉ 

(c) (a) औय (b) दोनो 

(d) इनभें से कोई नहीॊ  
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44. ऐसे व्मम, िो सयकणय के मरए ककसी ऩरयसम्पऩवत्त कण सिृन नहीॊ कयत,े कहरणत ेहै  

(a) यणितव व्मम 

(b) ऩूॉिीगत व्मम  

(c) (a) औय (b) दोनो 

(d) इनभें से कोई नहीॊ  

 

45. ननम्पनमरखखत भें से कौन-सण सयकणय कण ऩूॉिीगत व्मम है ? 

(a) ब्मणि कण बगुतणन 

(b) भकणन कण क्रम 

(c) भशीनयी व्मम 

(d) इनभें से सबी  

 

46. आमकय कण रणब प्रण्त होतण है 

(a) केनद्र सयकणय को  

(b) यणज्म सयकणय को 

(c) केनद्र एवॊ यणज्म सयकणय दोनों को 

(d) इनभें से कोई नहीॊ 

 

47. स्तथय ववननभम दय के ननम्पनमरखखत भें कौन-से दोष हैं ? 

(a) यणष्रीम हहतों की अवहेरनण 

(b) ऩूॉिी कण सीमभत प्रवणह 

(c) ववननभम दयों भें आकस्तभक उच्चणवचन 

(d) इनभें से सबी 
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48. बे्रटन वडु्स प्रणणरी के सभम अर्धकणॊश देशों भें थण 

(a) स्तथय ववननभम दय 

(b) अर्धकीमरत ववननभम दय 

(c) (a) औय (b) दोनों 

(d) इनभें से कोई नहीॊ 

 

49. बगुतणन शषे के अनतगित ननम्पनमरखखत भें कौन-सी भदें सस्म्पभमरत होती हैं ? 

(a) दृश्म भदें 

(b) अदृश्म भदें 

(c) ऩूॉिी अनतयण 

(d) इनभें से सबी 

 

50. चणर ूखणते की ननम्पनमरखखत भें कौन-सी भदें है ? 

(a) दृश्म भदों कण आमणत  

(b) ऩमिटकों कण खचि 

(c) दृश्म भदों कण ननमणित 

(d) इनभें से सबी 

 

51. वततु की कीभत उस बफनद ुऩय ननधणिरयत होती है िहणॉ 

(a) वततु की भणॉग अर्धक हो  

(b) वततु की ऩनूति अर्धक हो  

(c) वततु की भणॉग औय ऩनूति फयणफय हो  

(d) इनभें से कोई नहीॊ 
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52. ऩूॉिी के तटॉक की वदृ्र्ध कहरणती है 

(a) ऩूॉिी ह्रणस  

(b) ऩूॉिी रणब 

(c) ऩूॉिी ननभणिण 

(d) इनभें से कोई नहीॊ 

 

53. सणभणनम कीभत ततय कण अध्ममन ककमण िणतण है 

(a) व्मस्ष्ट अथिशणतत्र भें 

(b) सभस्ष्ट अथिशणतत्र भें 

(c) (a) औय (b) दोनों 

(d) इनभें से कोई नहीॊ 

 

54. सभस्ष्ट अथिशणतत्र भें ध्मणन नहीॊ हदमण िणतण है 

(a) फेयोिगणयी की सभतमण ऩय 

(b) अथिव्मवतथण भें भदु्रण प्रसणय ऩय 

(c) सभग्र भणॉग ऩय 

(d) िूट उद्मोग ऩय 

 

55. सभस्ष्ट अथिशणतत्र की ननम्पनमरखखत भें कौन-सी उऩमोर्गतण है ? 

(a) सयकणयी आर्थिक नीनत कण ननभणिण  

(b) आर्थिक ववकणस 

(c) अनतयणिष्रीम तुरनणएॉ 

(d) इनभें से सबी 
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56. प्रणथमभकतण ऺेत्र भें सस्म्पभमरत होतण है 

(a) कृवष 

(b) खुदयण व्मणऩणय 

(c) रघ ुउद्मोग 

(d) इनभें से सबी 

 

57. ननम्पनमरखखत भें कौन-सण प्रवणह नहीॊ है ? 

(a) ऩूॉिी 

(b) आम 

(c) ननवेश 

(d) भलूम हणस 

 

58. चणय ऺेत्रीम अथिव्मवतथण के चक्रीम प्रवणह भें सॊतुरन के मरए शति ननम्पनमरखखत भें 
कौन सी है ? 

(a) C+1 

(b) C+1+G 

(c) C+I+G+ (X-M) 

(d) इनभें से कोई नहीॊ 

 

59. तीन-ऺेत्रीम भॉडर भें ननम्पनमरखखत भें कौन शणमभर है ? 

(a) ऩरयवणय 

(b) पभि  

(c) सयकणय 

(d) इनभें से सबी 
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60. प्रवणह के अनतगित ननम्पनमरखखत भें कौन शणमभर है ? 

(a) उऩबोग 

(b) ननवेश 

(c) आम 

(d) इनभें से सबी 

 

61. ककस फणिणय भें पभि कण भणॉग वक्र ऩणूि रोचदणय होतण है ? 

(a) ऩणूि प्रनतमोर्गतण 

(b) एकणर्धकणय 

(c) एकणर्धकणयी प्रनतमोर्गतण 

(d) अलऩणर्धकणय 

 

62. एकणर्धकणय फणिणय ककसे दशणितण है ? 

(a) उत्ऩणदन प्रकक्रमण 

(b) ववतयण प्रणणरी 

(c) फणिणय प्रववृत्त 

(d) इनभें से कोई नहीॊ  

 

63. फणिणय स्तथनत स्िसभें वततु कण केवर एक के्रतण होतण है, हैं  

(a) एकणर्धकणय 

(b) भोनोऩोनी 

(c) द्वमणर्धकणय 

(d) इनभें से कोई नहीॊ  
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64. ववबेदीकृत उत्ऩणदन ववशषेतण है 

(a) केवर एकणर्धकणरयक प्रनतमोर्गतण की 

(b) केवर अलऩणर्धकणय की 

(c) एकणर्धकणरयक प्रनतमोर्गतण एवॊ अलऩणर्धकणय दोनों की 

(d) एकणर्धकणय की 

 

65. सभरूऩ उत्ऩणद ववशषेतण है 

(a) केवर ऩणूि प्रनतमोर्गतण की 

(b) केवर ऩणूि अलऩणर्धकणय की 

(c) (a) औय (b) दोनों की 

(d) इनभें से कोई नहीॊ 

 

66. एकणर्धकणय प्रनतमोर्गतण की धणयणण को हदमण है 

(a) हहक्स न े

(b) चमै्पफयमरन न े

(c) िीभती यॉबफनसन न े

(d) सेम्पमलुसन ने 

 

67. अनत अलऩकणर भें ऩनूति होगी 

(a) ऩणूित: रोचदणय 

(b) ऩणूित् फेरोचदणय 

(c) रोचदणय 

(d) इनभें से कोई नहीॊ  
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68. फणिणय भलूम सम्पफस्नधत होतण है 

(a) अनत अलऩकणरीन भलूम से 

(b) सणभणनम भलूम से 

(c) तथणमी भलूम से 

(d) इनभें से सबी 

 

69. एक पभि कण भणॉग वक्र ऩणूि रोचदणय होतण है 

(a) ऩणूि प्रनतमोर्गतण भें 

(b) एकणर्धकणय भें 

(c) एकणर्धकणरयक प्रनतमोर्गतण भें 

(d) अलऩणर्धकणय भें 

 

70. एक ऩणूि प्रनतमोगी पभि को ककसकण सणभनण कयनण ऩडतण है ? 

(a) स्तथय कीभत  

(b) स्तथय औसत आगभ 

(c) स्तथय सीभणनत आगभ 

(d) इनभें से सबी 

 

71. AR प्रदमशित ककमण िणतण है। 

(a) TR/Q से  

(b) ∆Q/P से  

(c) ∆TR/∆Q से 

(d) इनभें से कोई नहीॊ  
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72. एकणर्धकणय एवॊ एकणर्धकणयी प्रनतमोर्गतण भें होतण है 

(a) AR = MR 

(b) AR > MR 

(c) AR < MR 

(d) इनभें से कोई नहीॊ 

 

73. ऩणूि प्रनतमोर्गतण भें क्मण स्तथय यहतण है ? 

(a) AR 

(b) MR 

(c) AR तथण MR दोनों 

(d) इनभें से कोई नहीॊ 

 

74. प्रत्मेक फणिणय दशण भें एक पभि के सनतुरन के मरए कौन-सी शति ऩयूी होनी 
आवश्मक है ? 

(a) AR = MR 

(b) MR = MC 

(c) MC वक्र MR वक्र को नीच ेसे कणटे 

(d) (b) औय (c) दोनों 

 

75. पभि की अस्नतभ सॊतुरन दशण भें 

(a) MC वक्र MR को ऊऩय से कणटतण है 

(b) MC वक्र MR को नीच ेसे कणटतण है 

(c) (a) औय (b) दोनों 

(d) सबी असत्म हैं 
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76. ऩनूति भें कभी के ननम्पनमरखखत भें कौन-से कणयण हैं ? 

(a) उत्ऩणदन रणगत भें वदृ्र्ध 

(b) तथणनणऩनन वततुओॊ की कीभतों भें वदृ्र्ध 

(c) उद्मोग भें पभों की सॊख्मण भें कभी 

(d) इनभें से सबी 

 

77. ऩनूति ननम्पनमरखखत भें से ककससे िुडी होती है ? 

(a) ककसी सभम की अवर्ध 

(b) कीभत 

(c) (a) औय (b) दोनों 

(d) इनभें से कोई नहीॊ 

 

78. वततु की उस भणत्रण को क्मण कहते हैं, स्िसे ववके्रतण फणिणय भें ननस्श्चत सभम तथण 
कीभत ऩय फेचने के मरए तैमणय हो ? 
(a) ऩनूति 

(b) ऩनूति की रोच 

(c) भणॉग की रोच 

(d) भणॉग 

 

79. िफ ककसी वततु की ऩनूति भें आनऩुणनतक ऩरयवतिन उसकी कीभत भें होने वणरे 
आनऩुणनतक ऩरयवतिन से अर्धक होतण है, तो ऩनूति की रोच होगी 

(a) इकणई से कभ 

(b) इकणई के फयणफय 

(c) इकणई से अर्धक 

(d) अननत 
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80. es = 0 कण अथि है कक ऩनूति की रोच 

(a) ऩणूित् रोचदणय है  

(b) ऩणूित् फेरोचदणय है 

(c) कभ रोचदणय है 

(d) इकणई रोचदणय है। 

 

81. ननम्पनमरखखत भें से कौन-सण यणष्रीम आम को प्रबणववत कयतण है ?  

(a) वततु एवॊ सेवण कय 

(b) ननगभ कय 

(c) आर्थिक सहणमतण 

(d) इनभें से कोई नहीॊ 

 

82. स्तथय भलूम ऩय आकमरत सकर यणष्रीम उत्ऩणद क्मण है ? 

(a) वणततववक GNP 

(b) वणततववक GDP 

(c) भदु्रण GNP 

(d) इनभें से कोई नहीॊ 

 

83. नघसणवट व्मम ककसभें सस्म्पभमरत यहतण है ? 

(a) GNPMP 

(b) NNPMP 

(c) NNPPC 

(d) इनभें से कोई नहीॊ 
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84. प्रणथमभक ऺेत्र भें ननम्पनमरखखत भें कौन शणमभर है ?  

(a) बमूभ 

(b) वन 

(c) खनन 

(d) इनभें से सबी 

 

85. यणष्रीम आम के आकरन भें ककसी वततु मण सेवण कण भलूम एक से अर्धक फणय 
शणमभर कयनण कहरणतण है 

(a) एकर गणनण 

(b) दोहयी गणनण 

(c) फहुर गणनण 

(d) इनभें से कोई नहीॊ 

 

86. द्ववतीमक ऺेत्र के अनतगित ननम्पनमरखखत भें कौन-सी सेवण सस्म्पभमरत है ? 
(a) फीभण  

(b) ववननभणिण 

(c) व्मणऩणय 

(d) फैंककग  

 

87. सकर यणष्रीम उत्ऩणद की गणनण भें ननम्पनमरखखत भें ककसे सस्म्पभमरत नहीॊ ककमण 
िणतण है ? 

(a) ऩयुणनी वततुओॊ कण क्रम-ववक्रम 

(b) भध्मवती वततुएॉ 

(c) (a) औय (b) दोनों 

(d) इनभें से कोई नहीॊ  
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88. वततु ववननभम प्रणणरी की ननम्पनमरखखत भें कौन-सी कहठनणई है ? 

(a) दोहयण सॊमोग कण अबणव 

(b) वततु ववबणिन भें कहठनणई 

(c) सविभणनम भलूम भणऩक कण अबणव 

(d) इनभें से सबी 

 

89. भदु्रण के प्रणथमभक कणमि के अनतगित ननम्पनमरखखत भें से ककसे शणमभर ककमण िणतण 
है? 

(a) ववननभम कण भणध्मभ 

(b) भलूम कण भणऩक 

(c) (a) औय (b) दोनों 

(d) भलूम कण सॊचम 

 

90. भदु्रण के कणमों भें सस्म्पभमरत है 
(a) भलूम ननधणियण कयनण 

(b) भलूम सॊर्चत कयनण 

(c) ववननमभ कण भणध्मभ प्रततुत कयनण  

(d) इनभें से सबी 

 

91. कीनस के अनसुणय अथिव्मवतथण भें आम एवॊ योिगणय कण सनतुमरत ततय कहणॉ 
तथणवऩत होतण है ? 

(a) AD > AS 

(b) AD < AS 

(c) AD = AS 

(d) इनभें से कोई नहीॊ  
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92. ननम्पन भें कौन-सण सत्म है ? 

(a) MPC + MPS = 0 

(b) MPC + MPS < 1 

(c) MPC + MPS = 1 

(d) MPC+ MPS > 1 

 

93. कीनस के फचत ननवेश दृस्ष्टकोण के अनसुणय आम-योिगणय सॊतुरन ननधणियन 
ननम्पनमरखखत भें ककस बफनद ुऩय होगण ? 

(a) S > I  

(b) I > S 

(c) I = S 

(d) इनभें से कोई नहीॊ  

 

94. कीनस कण योिगणय मसद्धणनत ननम्पनमरखखत भें से ककस ऩय ननबिय है ? 
(a) प्रबणवऩणूि भणॉग 

(b) ऩनूति 

(c) उत्ऩणदन ऺभतण 

(d) इनभें से कोई नहीॊ  

 

95. गुणक को ननम्पनमरखखत भें ककस सतू्र द्वणयण व्मक्त ककमण िण सकतण है ? 

(a) K =
 ΔS 

ΔΙ
 

(b) K =
 ΔY 

ΔΙ
 

(c) K = I = S 

(d) इनभें से कोई नहीॊ  
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96. कीनस के ववननमोग गुणक कण भलूम ककस ऩय ननबिय है ? 

(a) आम कण ततय 

(b) ऩूॉिी की सीभणनत उत्ऩणदकतण 

(c) सीभणनत उऩबोग प्रववृत्त 

(d) ववननमोग की भणत्रण 

 

97. कीनस की अथिव्मवतथण भें नमनू भणॉग की दशण को ककस नणभ से िणनण िणतण है ? 

(a) ऩणूि योिगणय सॊतुरन 

(b) अऩणूि योिगणय सॊतुरन 

(c) (a) औय (b) दोनों 

(d) इनभें से कोई नहीॊ 

 

98. अवतपीनतक अनतयणर दशणओॊ भें 

(a) भणॉग भें तेिी से वदृ्र्ध होती है 

(b) ऩनूति भें तेिी से वदृ्र्ध होती हैं।  

(c) ऩनूति एवॊ भणॉग दोनों फयणफय होते हैं 

(d) इनभें से कोई नहीॊ 

 

99. तपीनतक अनतयणर को ठीक कयने के मरए प्रभखु यणिकोषीम उऩणम कौन से हैं? 

(a) सणवििननक व्मम भें कटौती 

(b) कयों भें वदृ्र्ध 

(c) सणवििननक ऋणों भें वदृ्र्ध 

(d) इनभें से सबी 
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100. नमनू भणॊग को ठीक कयने के ननम्पनमरखखत भें कौन से उऩणम हैं ? 

(a) यणिकोषीम उऩणम 

(b) भौहद्रक उऩणम 

(c) (a) औय (b) दोनों 

(d) इनभें से कोई नहीॊ  

 

SECTION-B 

रघ ुउत्तयीम प्रश्न 

 

प्रश्न सॊख्मण 1 से 30 तक रघ ुउत्तयीम हैं। इनभें से ककनहीॊ 15 प्रश्नों के उत्तय दें। प्रत्मेक  
प्रश्न के मरए 2 अॊक ननधणिरयत है। 

1. "फैंक दय' एवॊ 'ब्मणि दय भें क्मण अनतय है ? 

2. अनसै्च्िक फेयोिगणयी क्मण है ?  

3. सभग्र भणॉग के दो घटक फतणइए। 

4. भलूम ह्रणस क्मण है ? 

5. हरयत सकर यणष्रीम उत्ऩणद क्मण है ? 

6. मभर्ित आम क्मण होती है ? 

7. कफ पभि कीभत प्रण्तकतणि होती है ? 

8. सणम्पम कीभत कण ननधणियण कहणॉ होतण 

9. रगणन क्मण है ? 

10. सीभणनत उत्ऩणदन क्मण है ? 

11. रणगत परन क्मण है ? 

12. कुर आगभ कफ घटनण प्रणयम्पब कय देती है ? 

13. आर्थिक कक्रमणओॊ तथण अनणर्थिक कक्रमणओॊ भें अनतय मरखखए। 
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14. मभर्ित अथिव्मवतथण को ऩरयबणवषत कयें। 

15. उऩबोक्तण सनतुरन के अथि को सभझणइए। 

16. ननवेश गुणक से क्मण अमबप्रणम है ? उदणहयण सहहत सभझणइए। 

17. तपीनतक तथण अवतपीनतक अनतयणर भें अनतय फतणइए। 

18. ऩूॉिीगत प्रणस््तमों के दो उदणहयण दें। 

19. भदु्रण के प्रभखु दोष फतणइए 

20. िेष्ठ भदु्रण के गुण फतणइए। 

21. 'सभणशोधन गहृ' को ऩरयबणवषत कीस्िए। 

22. व्मतु्ऩनन भणॉग ककसे कहते हैं ? 

23. भौहद्रक प्रवणह औय वणततववक प्रवणह के फीच अनतय फतणइए। 

24. आम के प्रवणह को चक्रीम प्रवणह क्मों कहते हैं ? 

25. सभ-ववच्िेद बफनद ुक्मण है ? 

26. फणिणय ऩनूति क्मण है ? 

27. ऩनूति के रोच से आऩ क्मण सभझते हैं ? 

28. उदणसीनतण वक्र ककसे कहते हैं ? 

29. ननम्पन ततयीम वततु ककसे कहते हैं ? कोई दो उदणहयण दें। 

30. भणॉग कफ फेरोचदणय होती है ? 

 

दीघि उत्तयीम प्रश्न 

प्रश्न सॊख्मण 31 से 38 दीघि उत्तयीम प्रश्न हैं। इनभें से ककनहीॊ 4 प्रश्नों के उत्तय दें प्रत्मेक 
प्रश्न के मरए 5 अॊक ननधणिरयत है। https://www.bsebstudy.com 

31. अथिशणतत्र वणततववक औय आदशणित्भक ववऻणन दोनों है। सभझणइए | 

32. आर्थिक सभतमण क्मण है ? मह क्मों उत्ऩनन होती है ? 

33. भणॉग वक्र फणमें से दणमें नीच ेक्मों र्गयतण है ? 
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34. एकणर्धकणय फणिणय भें भलूम ननधणियण कैसे होतण है ? 

35. भलूम वदृ्र्ध ववर्ध द्वणयण यणष्रीम आम की गणनण कैसे की िणती है? 

36. वततु ववननभम प्रणणरी क्मण है ? इसकी कहठनणइमणॉ फतणइए। 

37. एक व्मणवसणनमक फैंक के भखु्म कणमों कण सक्षऺ्त वणिन कीस्िए। 

38. फिट से आऩ क्मण सभझते हैं ? फिट के क्मण उद्देश्म हैं ? 

 

 

******** 
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1. Credit money is increased when CRR  

(a) falls  

(b) rises  

(c) both (a) and (b) possible  

 (d) none of these  

 

2. The main function of commercial bank is  

(a) Credit control 

(b) Advancing to other banks  

(c) Accept deposits from customers 

(d) All of these  

 

3. Which of the following deposits are accepted mainly by the commercial banks?  

(a) Current Deposits  

(b) Savings Deposits  

(c) Fixed Deposits  

(d) All of these  

 

4. Which of the following is the function of central bank?  

(a) Monopoly of note issue  

(b) Banker of the Government  

(c) Custodian of foreign exchange reserves  

(d) All of these  

 

5. Which is the central bank of India?  

(a) Reserve Bank of India.  

(b) State Bank of India  

(c) Central Bank of India  

(d) Bank of India 
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6. Which of the following is the major objective of credit control? 

(a) To maintain price stability  

(b) To stabilize foreign exchange rate  

(c) To promote production and employment  

(d) All of these  

 

7. When were 14 big scheduled commercial banks in India nationalised?  

(a) 1949  

(b) 1955  

(c) 1969  

(d) 2000  

 

8. For Keynes, investment implies  

(a) Financial Investment  

(b) Rate of interest 

(c) Both (a) and (b)  

(d) None of these 

 

9. The main component of aggregate  demand is  

(a) Individual consumption  

(b) Public consumption 

(c) Investment  

(d) All of these  

 

10. Which is the determining factor for investment ? 

(a) Marginal efficiency of capital  

(b) Real Investment 

(c) Both (a) and (b)  

 (d) None of these  

 



https://www.bsebstudy.com 

 

11. The slope of a production possibility curve falls  

(a) From left to right  

(b) From right to left 

(c) From top to bottom  

(d) From bottom to top  

 

12. In which economy decisions are taken on the basis of price mechanism  

(a) Socialist  

(b) Capitalist  

(c) Mixed  

(d) None of these  

 

13. Consumer behaviour is studied in  

 (a) Micro-Economics  

(b) Income Theory  

(c) Macro-Economics  

(d) None of these 

 

14. Who gave the concept of limited resources and unlimited wants?  

(a) Adam Smith  

(b) Marshall  

(c) Robbins  

(d) Samuelson  

 

15. Which of the following is a branch of Micro-Economics?  

(a) Production Price determination  

(b) Factor Price determination  

(c) Economic welfare 

(d) All of these 
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16. Who basically propounded the concept of law of equimarginal utility?  

(a) Marshall  

(b) Gossen  

(c) Ricardo  

(d) Mill  

 

17. The prodpounder of law of diminishing marginal utility is  

(a) Gossen  

(b) Adam Smith  

(c) Chapman  

(d) Hicks 

 

 18. The ability of satisfying human wants in a good is called  

 (a) Productivity  

(b) Satisfaction  

(c) Utility.  

(d) Profitability  

 

19. On consumption of every additional unit of commodity, marginal utility  

(a) diminishes  

(b) increases  

(c) remains constant  

(d) becomes zero  

 

20. With a rise in price the demand for 'Giffen' goods  

(a) increases  

(b) decreases  

(c) remains constant  

(d) becomes unstable  
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21. Tax revenue of the government includes.  

(a) Income tax  

(b) Corporate tax  

(c) Customs duty  

(d) All of these  

 

22. Semi-finished goods are termed as  

(a) Capital goods  

(b) Intermediate goods 

(c) Final goods  

(d) None of these  

 

23. Which of the following is economic reason of imbalance in Balance of Payment ?  

(a) Internal relationship  

(b) Political instability  

(c) Business cycle  

(d) None of these  

 

24. Law of equi-marginal utility is called  

(a) Law of increasing utility  

(b) Law of diminishing utility 

(c) Law of substitution  

(d) None of these  

 

25. 'Mikros' belongs to which of the following languages?  

(a) Arabic  

(b) Greek  

(c) German  

(d) English  
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26. The work 'micro' was firstly used by  

(a) Marshall  

(b) Boulding  

(c) Keynes  

(d) Ragnar Frisch  

 

27. Which of the following economics has a co-existence of private and public sectors ?  

(a) Capitalist  

(b) Socialist  

(c) Mixed  

(d) None of these  

 

28. Who propounded the ordinal utility theory?  

(a) Marshall  

(b) Hicks and Allen  

(c) Ricardo  

(d) Pigou  

 

29. The slope of indifference curve shows  

(a) The price ratio  

(b) Diminishing 

(c) Factor substitution  

(d) Marginal utility  

 

30. Demand curve generally slopes  

(a) Upward from left to right  

(b) Downward from left to right 

(c) Parallel to X-axis  

(d) Parallel to Y-axis  
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31. For which of the following changes there is no change in demand?  

(a) Change in price  

(b) Change in income  

(c) Change in taste and fashion  

(d) None of these  

 

32. Price elasticity of demand means  

(a) Change in demand due to change in price  

(b) Change in demand  

(c) Change in real income  

(d) Change in price  

 

33. With which method, is elasticity of demand measured?  

(a) Total expenditure method  

(b) Percentage or proportionate method  

(c) Point method  

(d) All of these  

 

34. Production function is expressed as  

(a) Qx = Px 

 (b) Qx = Dx  

(c) Qx = f(A, B, C, D)  

(d) None of these  

 

35. Which of the following is not a factor of production?  

(a) Land  

(b) Labour  

(c) Money  

(d) Capital  
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36. The basic reason of operating the Law of Diminishing Return is  

(a) Scarcity of factors  

(b) Imperfect substitution between factors  

(c) Both (a) and (b)  

(d) None of these  

 

37. Law of variable proportion is related to  

(a) Both short-run and long-run  

(b) Long-run  

(c) Short-run  

 (d) Very long-run  

 

38. The alternative name of opportunity cost is  

(a) Economic cost  

(b) Equilibrium price  

(c) Marginal cost  

(d) Average cost  

 

39. Which factors are used in short-run production process?  

(a) Fixed factors  

(b) Variable factors  

(c) Both (a) and (b)  

(d) None of these  

 

40. With the increase in production, the difference between total cost and  total fixed cost  

(a) remains constant  

(b) increases  

(c) decreases  

(d) both increases and decreases  
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41. Which of the following is included in qualitative method of controlling credit?  

(a) Change in marginal requirements of loans  

(b) Credit rationing  

(c) Direct action  

(d) All of these  

 

42. Which type of expenditure is made in bridge construction?  

(a) Capital expenditure  

(b) Revenue expenditure  

(c) Both (a) and (b)  

(d) None of these  

 

43. Which of the following is the component of Budget receipts?  

(a) Revenue receipts  

(b) Capital receipts  

(c) Bothe (a) and (b)  

(d) None of these  

 

44. The expenditure which does not create assets for the government is cal  

(a) Revenue expenditure  

(b) Capital expenditure  

(c) Both (a) and (b)  

(d) None of these 

 

45. Which of the following is capital expenditure of the government?  

(a) Payment of interest  

(b) Purchase of house  

(c) Expenditure on machinery  

(d) All of these  
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46. Benefit of Income tax is received by  

(a) Central Government  

 (b) State Government  

(c) Both Central Government and State Government  

(d) None of these  

 

47. Which one is a demerit of fixed exchange rate?  

(a) Ignores national interests  

(b) Restricted flow à capital  

(c) Sudden fluctuation in exchange rate  

(d) All of these  

 

48. During Bretton Woods system most countries had  

(a) Fixed exchange rate  

(b) Pegged exchange rate  

(c) Both (a) and (b)  

(d) None of these  

 

49. Which of the following items are included in Balance of Payment?  

 (a) Visible items  

(b) Invisible items  

(c) Capital transfers  

(d) All of these  

 

50. Which one is the item of Current Account ?  

(a) Import of visible items  

(b) Expenses of tourists 

(c) Export of visible items  

(d) All of these  
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51. Price of a commodity is determined at a point where 

(a) Demand of the commodity is high 

(b) Supply of the commodity is high 

(c) Demand and supply of the commodity are equal  

(d) None of these 

 

52. Increase in stock of capital is known as 

(a) Capital loss 

(b) Capital profit 

(c) Capital formation 

(d) None of these 

 

 

53.  General price level is studied in  

(a) Micro-Economics 

(b) Macro-Economics 

(c) Both (a) and (b) 

(d) None of these 

 

54. Macro-Economics does not focus on  

(a) Unemployment problem 

(b) Money inflation in economy  

(c) Aggregate demand 

(d) Jute industry 

 

55. Which of the following is the utility of Macro-Economics? 

(a) Formation of Government economic policy  

(b) Economic growth 

(c) International comparisons  

(d) All of these 
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56. Priority sector includes 

(a) Agriculture  

(b) Retail trading 

(c) Small industries 

(d) All of these  

 

57. Which of the following is not flow? 

(a) Capital 

(b) Income 

(c) Investment  

(d) Depreciation 

 

58. Which of the following is the equilibrium condition of circular flow in four-sector 

economy? 

(a) C + I 

(b) C + I + G 

(c) C + I + G + (X - M) 

(d) None of these  

 

59. Which one is included in three-sector model? 

(a) Family  

(b) Firm  

(c) Government 

(d) All of these 

 

 60. Which one of the following is included in flow? 

(a) Consumption  

(b) Investment  

(c) Income  

(d) All of these 
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61. In which market demand curve of a firm is perfectly elastic? 

(a) Perfect competition  

(b) Monopoly 

(c) Monopolistic competition  

 (d) Oligopoly 

 

62. What does a monopolist market show? 

(a) Production process  

(b) Distribution system 

(c) Nature of market 

(d) None of these  

 

63. Market situation where there is only one buyer is 

(a) Monopoly  

(b) Monopsony  

(c) Duopoly  

(d) None of these 

 

64. Differentiated product is a characteristic of 

(a) Only monopolistic competition 

(b) Only oligopoly 

(c) Both monopolistic competition and oligopoly 

(d) Monopoly 

 

65. Homogeneous product is a characteristic of 

(a) Only perfect competition  

(b) Only perfect oligopoly 

(c) Both (a) and (b) 

(d) None of these 
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66. The concept of monopolistic competition is given by 

(a) Hicks 

(b) Chamberlin 

(c) Mrs. Robbinson 

(d) Samuelson 

 

67. In very short period, supply will be 

 (a) Perfectly elastic 

(b) perfectly inelastic  

(c) Elastic 

(d) None of these 

 

68. Market price is associated with 

(a) Price of very short period 

(b) Normal price  

(c) Permanent price 

(d) All of these 

 

69. Demand curve of a firm is perfectly elastic under 

(a) Perfect competition 

(b) Monopoly 

(c) Monopolistic competition  

(d) Oligopoly 

 

70. A perfect competitive firm faces  

(a) Fixed Price  

(b) Constant AR 

(c) Constant MR  

(d) All of these 
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71. AR is shown as 

(a) 
𝑇𝑅

𝑄
 

(b)  
∆𝑄

𝑃
 

(c) 
∆𝑇𝑅

∆𝑄
 

(d) None of these 

 

72. In monopoly and monopolistic competition  

(a) AR = MR 

(b) AR > MR 

(c) AR < MR 

(d) None of these 

 

73. In perfect competition, which of the following remains constant ? 

(a) AR  

(b) MR  

(c) Both AR and MR 

(d) None of these 

 

74. In every market situation which condition is necessary to be fulfilled for firm's 

equilibrium? 

(a) AR = MR 

(b) MR = MC 

(c) MC curve should cut MR curve from below 

(d) Both (b) and (c) 

 

75. In final equilibrium situation of firm 

(a) MC curve cuts MR from above  

(b) MC curve cuts MR from below  

(c) Both (a) and (b) 

(d) All are false 
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76. Which of the following is the reason of decrease in supply? 

(a) Increase in production cost 

(b) Increase in price of substitute 

(c) Fall in number of firms in the industry 

(d) All of these  

 

77 . With which of the following is supply associated? 

(a) A time period 

(b) Price 

(c) Both (a) and (b) 

(d) None of these 

 

78. What is called that quantity of a good, which a seller becomes ready to sell in the 

market at fixed price and particular time? 

(a) Supply 

(b) Elasticity of supply  

(c) Elasticity demand 

(d) Demand 

 

79. When the proportionate change in the supply of goods is more than the proportionate 

change in its price, the elasticity of supply will be 

(a) less than unit 

(b) equal to unit 

(c) greater than unit 

(d) infinite 

 

80. es = 0 means that elasticity of supply is 

(a) Perfectly elastic  

(b) Perfectly inelastic 

(c) Less elastic 

(d) unit elastic 
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81. Which of the following affects national income? 

(a) Goods and Service tax 

(b) Corporation tax 

(c) subsidies 

(d) None of these  

 

82. What is GNP calculated on fixed price? 

(a) Real GNP 

(b) Real GDP  

(c) Money GNP 

(d) None of these 

 

83. In which of the following are Depreciation expenses included? 

(a) GNPMP 

(b) NNPMP 

(c) NNPPC 

(d) None of these 

 

84. Which one of the following is included in primary sector? 

(a) Land  

(b) Forest 

(c) Mining  

(d) All of these 

 

85. To include the value of goods or services more than one time in calculating National 

Income is called 

(a) Single counting  

(b) Double counting 

(c) Multiply counting 

(d) None of these 
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86. Which service of the following is included in secondary sector? 

(a) Insurance 

(b) Manufacturing 

(c) Trade 

 (d) Banking 

 

87. Which of the following is not included in the calculation of Gross National Product? 

(a) Purchase and sale of old commodities 

(b) Intermediate commodities 

(c) Both (a) and (b) 

(d) None of these 

 

88. Which one is the difficulty of Barter system? 

(a) Lack of double coincidence 

(b) Difficulty of division of the goods 

(c) Lack of general acceptable measure of value 

(d) All of these 

 

89. Which one of the following is included in the primary function of money? 

(a) Medium of exchange 

(b) Measure of value 

(c) Both (a) and (b) 

(d) Store of value 

 

90. The function of money includes 

(a) Value determination 

(b) Store of value 

(c) Means of exchange 

(d) All of these 

 



https://www.bsebstudy.com 

91. In keynesian viewpoint where is the equilibrium level of income and employment in 

the economy established? 

(a) AD > AS 

(b) AD > AS 

(c) AD > AS 

(d) None of these 

 

92. Which one of the following is true? 

(a) MPC + MPS = 0  

(b) MPC + MPD < 1 

(c) MPC + MPS = 1 

(d) MPC + MPS > 1 

 

93. According to Keynesian saving-investment viewpoint, income-employment 

equilibrium will be determined at which point? 

(a) S > I 

(b) I > S 

(c) I - S 

(d) None of these 

 

94. On which of the following does Keynesian theory of employment depend? 

(a) Effective demand  

(b) Supply 

(c) Production efficiency 

(d) None of these 

 

95. Through which of the following formulae can Multiplier be expressed?  

(a) K = 
∆𝑆

∆𝐼
  

(b) K= 
∆𝑌

∆𝐼
 

(c) K = I-S 

(d) None of these 
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96. The value of Keynesian Investment Multiplier depends on 

(a) Level of Income 

(b) Marginal productivity of capital 

(c) Marginal propensity to consume 

(d) Investment level 

 

97. Which of the following is known as the state of deficient demand in Keynesian 

economy? 

(a) Full employment equilibrium  

(b) Under employment equilibrium  

(c) Both (a) and (b) 

(d) None of these 

 

98. In situation of deflationary gap 

(a) Deamnd increases rapidly  

(b) Supply increases rapidly 

(c) Both supply and demand are equal 

(d) None of these  

 

99. Which major fiscal measure is to be adopted in correcting inflationary gap? 

(a) Reduce in public expenditure 

(b) Increase in taxes 

(c) Increase in public debt 

(d) All of these 

 

100. Which one is the corrective measure for deficient demand? 

(a) Fiscal measures 

(b) Monetary measures 

(c) Both (a) and (b) 

(d) None of these 
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SECTION-B (NON-OBJECTIVE TYPE QUESTIONS) 

Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions. Each questions 

carries 2 marks.  

1. What is the difference between 'Bank Rate' and 'Interest Rate'? 

2. What is involuntary employment ? 

3. Mention two components of aggregate demand. 

4. What is depreciation ?  

5. What is Green GNP ? 

6. What is mixed income?  

7. When a firm is price taker? 

8. Where is the equilibrium price determined? 

9. What is Rent? 

10. What is marginal production? 

11. What is cost function? 

12. When does the TR start declining? 

13. Differentiate between economic activities and non-economic 

14. Define Mixed Economy. https://www.bsebstudy.com 

15. Explain the meaning of consumer's equilibrium. 

16. What is meant by investment multiplier? Explain with suitable examples  

17. Distinguish between inflationary and deflationary gap 

18. Give two examples of capital receipts.  

19. State the main demerits of money.  

20. State the qualities of good money. 

21. Define 'clearing house'. 

22. What is derived demand?  

23. Distinguish between Money Flow and Real Flow.  
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24. Why is flow of income called circular flow? 

25. What is Break-even point? 

26. What is market supply? 

27. What do you mean by elasticity of supply?  

28. What is indifference curve ?  

29. What are inferior goods? Give any two examples. 

30. When does demand become inelastic? 

 

Question Nos. 31 to 38 are Long Answer Type questions. Answer any 4 questions. Each 

question carries 5 marks. 

31. Economics is both positive and normative science. Explain. 

32. What is an economic problem? Why does it arise? 

33. Why dies demand curve slope downward from left to right? 

34. How is price determined under monopoly market? 

35. How is national income estimated by value added method?  

36. What is Barter system? Mention its difficulties. 

37. Explain briefly the primary functions of a commercial bank. 

38. What is meant by Budget? What are the objectives of budget? 

 

*********** 
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